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16 x 10 =
41 x 10 =
37 x 100 =
12 x 100 =

340 0 10

Spicy
34x 10

34x 10
650+ 10
72+ 10

800 = 100

4.5 x D= 45
270 = D= 2.4

520 0 10 =
/700 ©0 100 =
800 0 100 =
17 o0 10 =

672 0 100 =

34 x 100
3.4x 100
650 = 100
7+10

80 + 100

4.5 XD = 450
270+( )-27

10



t

dxlelU=dxl I
63 x 100 = 10 = ﬁExD

280+ 10+ 10 =280 =

760+~ 100 x 10 =760 + D

B

d.5:D=4.5x1Dx1D
3.?:D+1D=3.?x10
L‘:UO+D+1U=&+]U

0.?11DG+D=U.?:ID
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I 2400 + 100 =
75x10 = o8 =10 =
100 x 33 = 9+10=
60 x 10 = 9+ 1000 =
Spicv
15x 10+ 100
1000 x = 65800
6 + 100 x 1000 3.7 X =370
6+ =06
2800 - =2.8
x 100 = 4500
0.03 x =3
0.74=74 +
Hot
1 Put these calculations in order from smallest to biggest.

100 x 540(| 5.4 x1000

5400 = 10| [ 5400 = 1000] [540 + 10

2 By using a number from column A, an operation from B and a
number from C, how many ways can you find to make 707?

A B c

7 1

70 X 10
700 . 100
7000 - 1000

by

10

a



3 Can you find a path from 6 to 0.067

You are not allowed to make diagonal moves.

6 x 10 x10 | +100

+10 | x100 | x 100 +10

x 10 +10 |[+1000 +100

+=1000 | x 1000 | x 100 | 0.06

Challenge:

Who is correct!

Dora
5 hundredths is
equivalent to 50 (o0
tenths. 9
@ 50 hundredths is
equivalent to 5 tenths.

Amir

Explain why.
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Reasoning — Multiplying and Dividing by 10, 100 and 1000

Here are four cards.

Use a card to complete each calculation. You can use a card more than once.

x 100

x 10

Reasoning — Multiplying and Dividing by 10, 100 and 1000

Here are six cards.

Use a card to complete each calculation. You can use a card more than once.

x 10 x 100 x 1000 =10 = 100 =+ 1000
6.2 =0.62 18 =180 47 =47
6.2 =620 18 =0.18 47 = 0.47
6.2 = 0.062 18 =138 47 = 47000




Reasoning — Multiplying and Dividing by 10, 100 and 1000

Here are six cards.

Use a card to complete each calculation. You can use a card more than once.

x 10 x 100 x 1000 =10 = 100 = 1000
16.8 = 168 637 =0.637 4 84 = 484
16.8 =0.168 637 = 63,700 4 84 = 4840
16.8 = 1680 637 = 6.37 4 .84 = 48.4
Extension

95.0

7% 10 x 10 xjﬁ(x 10 = 21,000

jﬁ( x 100 x A\ = 30,000 20
B3 - A -

What do the symbols represent?

Which calculations are correct?
Which are incorrect? Explain why.
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Partton these fractons into tenths and
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Arrange all the digits to make a 3-digit number with 2-decimal places that meets the given criteria.

1. Between 4.6 and 4.7:
7, 4,6

5. Between 6.2 and 6.4:
1,3,6

9. Between 5 and 5.1:
80,5

2. Between 3.8 and 4: 3. Between 8.9 and 9.1: 4. Between 7.3 and 7.5:
2,3,9 0,39 4,17,5

o - t h o - h o - t h

6. Between 1.7 and 1.9: 7. Between 8.6 and 8.8: 8. Between 2.3 and 2.5:
W.H.ﬂ q.m.n— m.N.n—

o - t h o - t h o - t h

10. Arrange the following digits to make
the largest possible 3-digit number
with 2-decimal places: 7, &4, 8

11. Use the same digits to make the smallest
3-digit number with 2-decimal places.




Arrange all the digits to make a 4-digit number with 2-decimal places that meets the given criteria.

1. Between 23 and 25: 2. Between 29 and 31: 3. Between 52 and 54: 4. Between 15 and 17:
6,9,4,2 1,0,3,5 3,7,5 8 2,6,1,3
T 0 t h T 0 t h T 0 -t h T 0 t h
5. Between 97 and 99: 6. Between 61 and 63: 7. Between 43 and 45: 8. Between 71 and 73:
8,049 53,6,2 7,4,5 64 2,1,1,4
T 0 t h T 0 t h T o -t h T 0 t h
9. Between 81 and 83: 10. How many 4-digit numbers ~ 11. Arrange the following digits ~ 12. Use the same digits to
9,828 with 2-decimal places can to make the largest 4-digit make the smallest 4-digit
you make using the number with 2-decimal number with 2-decimal
following digits: 7, 5,0, 3 places possible: 3,2, 8, 1 places.

I
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Convert the following fractions to their equivalent decimals. The first one has been

done for you.

76
1_ —_—
100
49
2. —
100
20
3. —
100
80
4_ —_—
100
66
5 —
100
14
6- —
100
84
1. —
100
16
8‘ —
100
30
9. —
100

0.76

10.

11,

12,

13,

14,

15,

16.

17.

18.

70
100

44
100

90
100

42
100

21
100

65
100

76
100

81
100

25
100

S



Spicy
Convert

for you.
8
dy
100
A
2. =
100
29
3. —
100
4, =
100
5 20
100
6 ——
100
;99
100
g 33
100
g 20
100
10. 2%

100

t

he foll owing

0.08

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

fractons

t

o

their
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Convert the following fractons to their
for you.

1. 29 216 11, £ =
100 100
60 48
2, — = 12, — =
100 100
43
43 _ 9
3, 100 13, — =
. 100
"h — =
100 14. 165
129 100
5. Eﬁ - 22
15, E -
6. i . o
- 16, — =
7. — = 100
100
176  _
g 2 . 17. 00 "
10 18 E =
9, =— = " 100
50 .
0 _ 19, — =
10. 100 10
20 ﬂ =

100



